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Find the tangent of angles A and B
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Note how the tangent ratio changes with the shape of the triangle
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Note how tan-1 finds the angle when you already know the tangent

Use the 2nd key to get the 
tan-1 function.  This finds the 
angle when you already know 

the tangent

To sum it up:
tan(45º) = 1

and
tan-1 (1) = 45º
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Find the missing lengths

tan34° = y
7

y

7

A

BC
34º
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x

y ≈ 4.722

72 + y2 = x2

x = 72 + y2

x ≈ 8.444

56º

Let’s also note that this angle can 
be found through subtraction

90° − 34° = 56°


